. Define Anomers. Explain anomeric effect and
double anomeric effect.

TR 1 aR9Ifo *ifSw | TAERE g9e 1@ -1
JHTE hl THABY |

. Explain the structure of Carbanion.

FHEUATET i G IR |

. Explain the photochemistry of peroxides.
TSHAFATES i TehIST T FHHATET |

. Discuss the conformational analysis of
2, 3-dibromobutane.

2, 3T & fau w&un &t fag=m wifsm

. Discuss the mechanism of triplet sensitized cis-trans
isomerization of Alkenes.

TehA o o SARa awue-faus SaeEetso &t
forer=rmn =ifsT |

. Write short notes on the following :

(@) Photo-Fries Rearrangement
(b) Favorskii Rearrangement
freafafea = gfaa feufmr fafen .

(31) RIRA-IS A

(9) HaREn! =g
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M.Sc. (Final) Examination
CHEMISTRY

(Reaction Mechanisms Pericyclic Reactions,
Organic Photochemistry, Stereochemistry)

Paper : MSCCH-06

Time : 2 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

e - =® g et SR ‘' ) wel # fawfsa ¥ wew
Tue & MRUgER 9l & SW a9 |

Section—-A 8x2=16
(Very Short Answer Type Questions)

Note .-— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (1)

(i1)

(iii)

(iv)

)

(vi)

Gug—31
(fd =g ST )
[t Y9 % IW AT M T IW I JEALEIR
TF I, T 9 a1 Sifushaq 30 vsai | 9REifEa
FHIT | G&F T 2 SHh! A B

Complete the following reaction :

frefefan sfafea & g HifT

NBS

Write down the following carbocations in
decreasing order of their stability :

= 3 T FEihaE w36 fud & ued
3¢ %9 # fafen .

® @ @ ®

CH,,(CH,)C,CH,-CH,,(CH,),CH
Write chemical equation for Shapiro
Reaction.

IR sttt w1 i S fafem
Define Flagpole-Flagpole interaction.
AT - Tdel RER T &t afturen fafem |

Give example of benzil-benzilic acid
rearrangement.

Sfter-sfiferes et qAfa=mg 1 e Sife |
Identify the following reaction and give its
name :

fr=fafea sifufsren =1 TeamE ST 719 ey
R,C=0—™ sR*+R-C=0
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(vii) Define Quantum Yield.
FAUSH Al I IR HifST |

(viii) What is Pyramidal Inversion ? Give one
example.

fafaeet gdio? =1 & ? T Sarew qifeg |
Section-B 4%x16=64
(Short Answer Type Questions)

Note .-— Answer any four questions. Each answer should

not exceed 200 words. Each question carries 16
marks.
gus—d
(g, 3T U9)

fdor .- ol O 9Tl o SR SIS ST 379 ST Rl 3iferehad

200 vr<Ei | R HIfT | e 999 16 3t & S

. Explain the structure and rearrangement reaction

of Carbenes.
I i TCE Ta HfaarE stfafswmansit & gogmse |

. Explain the mechanism of the following :

(@) Cope Rearrangement
(b) Claisen Rearrangement

frefafeaa w1 franfafy gasmEy
(31) =Y e
(&) ForoH A"
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